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EIRFES BEANE | THEE | 2RE | 6KE &
AOAGR (T #A) 12 11 11 11 10
AOAGH (I HA) 5 1 1 1 1

INET(AOAER) 17 12 12 12 11
NEHIHEB AR 3 0 0 0 0
HEEREBAR 1 1 1 1
BRERFRAF 7 6 6 6 6

INET (HERB A th) 10 7 7 7 7
— R A (T 81) 10 42 36 34 23
— AR A (I EA) 6 15 12 11 6
— A A (ITEA) 4 5 5 5 3

INET (— AR AED) 20 62 53 50 32
tUA-FIAA (I E5) 10 38 38 34 9]
tU4-FIRAA (DHD) 5 9 9 7 2
tU4-FIRAA (IIHY) 3 4 4 4 1

INET (U A—FIAAR) 18 o1 o1 45 8
B4 AR (A) 13 18 18 16 14
BE4 AR (B) 14 15 14 14 11
BE4 A (C) 2 3 3 2 0
B4 AR (D) 2 2 2 2 2
MNEH(BEAEAR) 31 38 37 34 27
& &t 96 170 160 148 85
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EIRFES BEEANE | THEE | 2RE | 68E | ARE
mAFRER (T H1) 3 3 3 1
WA FER (I EA) 1 1 0 0
A FER (A) aTa 0 0 0 0
wmAFER (B) 1 1 1 1

& &t 5 5 4 2




